
Year 6 Maths
Week 12 Lesson 3

Statistics ςPie Charts with Percentages



Statistics ςDraw Line Graphs

In this lesson you will:

Å apply your understanding of calculating 
percentages of amounts to interpret pie charts;

Å decide on the most appropriate scales and 
intervals to use depending on the data they are 
representing.
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Introduction

Calculate these percentages of quantities.

Find 25% of:

60 84 56 168

Find 10% of:

70 150 690 125

Find 5% of:

20 140 280 360



Introduction

Calculate these percentages of quantities.

Find 25% of:

60

15

84  

21

56  

14

168 

42

Find 10% of:

70 

7

150  

15

690  

69

125  

12.5

Find 5% of:

20  

1

140  

7

280  

14

360  

18

To find 25% we 
need to divide 
by 4.

To find 10% we 
need to divide 
by 10.

To find 5% we 
need to divide 
by 20. A good 
way to divide by 
20 is to divide by 
10 then divide 
by 2.



How many people voted for Vanilla?

How many more people voted for Chocolate than Mint Chocolate Chip?



How many people voted for Vanilla?
10% of the children voted for Vanilla as their favourite ice cream flavour. 10% of 150 is 15.

How many more people voted for Chocolate than Mint Chocolate Chip?
30% voted for Chocolate and 20% voted for Mint Chocolate Chip. So 10% more people voted for Mint 
Choc. 10% of 150 children is 15 children. 



How many people chose Chocolate, Banana and Vanilla altogether?



How many people chose Chocolate, Banana and Vanilla altogether?
10% + 30% + 10% = 50%. 50% of 150 is 75.



Varied Fluency 1

60 children voted for their favourite colour. 

Here are the results:

How many voted for red?



Varied Fluency 1

60 children voted for their favourite colour. 

Here are the results:

How many voted for red?

9

10% of 60 is 6.
5% of 60 is 3.

So 15% is 6 + 
3. 



Varied Fluency 2

200 children were asked how many siblings they have. 

Here are the results:

How many more children have two siblings than three?



Varied Fluency 2

200 children were asked how many siblings they have. 

Here are the results:

How many more children have two siblings than three?

30

10% of the children 
have 3 siblings; 25% 
of the children have 
2 siblings. So 15% 
more.

15% of 200 is 30.

10% of 200 is 20.
5% of 200 is 10.

So 15% is 20 + 10. 



Varied Fluency 3

120 people were asked their age. 

Here are the results:

How many were in each age bracket?



Varied Fluency 3

120 people were asked their age. 

Here are the results:

How many were in each age bracket?

17 or under ð54, 18 to 25 ð48, 26 to 40 ð6, 41 to 60 ð6, Over 60 ð6 

All the percentages are 
multiples of 5, so let us 
work out 5% of 120 first.
120 divide by 20 is 6.

So, 45% of 120 = 6 x 9 
(as 5 x 9 = 45)

So, 40% of 120 = 6 x 8 
(as 5 x 8 = 40)

And we already  know what 
5% is!



Varied Fluency 4

If 30 people chose Friday, how many chose Thursday?



Varied Fluency 4

If 30 people chose Friday, how many chose Thursday?

80

15% of the Pie chart is 
ǎƘŀŘŜŘ ƛƴ ŀǎ CǊƛŘŀȅΩǎ ŎƻƭƻǳǊΦ

If 15% of the whole is 30, 
then 1% is equivalent to 2 
people.

We can then use this to work 
out how many people chose 
Thursday as their favourite 
day at school.

40% chose Thursday. 40 x 2 = 
80. So 80 people chose 
Thursday.
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